Schools of Psychology

Semester III

BS Hons.
James Mill (1773-1836)

James Mill believed that the philosophers who argued that the human mind is like a machine had not gone far enough. He said that the mind is a machine. It functions in a systematic, predictable way. It is set into operation by external forces and is run by internal forces. According to this view the mind is totally passive. We respond to stimuli automatically. So Mill was not recognizing free will or spontaneity.

He suggested that the mind be studied by the method of analysis that is by breaking it down into small component parts. He proposed that sensations are grouped together or associated to form higher-level ideas through a mechanical process that involves no creative role on the part of the mind.  

John Stuart Mill (1806-1873)

John Mill was James Mill’s son. From early childhood (rather infancy) his father rigorously trained him in areas as diverse as Greek, Latin, Algebra, history and political economy. Consequently young Mill was able to read Plato in original Greek at the age of 3. By 12 he had mastered the standard university curriculum.

Although taught and tutored by his father, John Mill had a different approach to mind and philosophy. He argued against the mechanistic position of his father, who had viewed the mind as passive, something acted upon by external stimuli. To John Mill, the mind played an active role in the association of ideas. 

He also proposed that the complex ideas are not merely the sum of simple ideas. Rather complex ideas are more than the sum of the individual parts because they take on qualities not found in the simple elements. This view is called creative synthesis. John Mill was actually influenced by research being done in chemistry. (In contrast his father had been inspired by physics and mechanics). Chemists were demonstrating that when elements form compounds, the compounds have qualities different from the elements. For example the proper mixture of the elements hydrogen and oxygen produces water that has properties different from either the elements. 

